MZINE— (2014/10/2)

L (T%) BBy =3 — 2 211 B, LRERSEH,

sol: Let x; > x9, then 3™ > 372 & 3%1 < 3%2

Hence, y; = 371 — 2= > 3% — 2 — g

371 372

that is, y = 3% — 3% is increasing=- which is one-to-one.

To find its inverse function:

x:3y—3%, and let A = 3Y. Then we solvex:A—%.

r=A—-2=A%— Az — 2 =0=A = sy V2$2+8('.‘A:3y>0)
And hence,the inverse function is y = log, Y28 ”2‘”2+8.

2. (7%) BHl F(z,y) = 0 2BUT, BH F(—2,y) =0, F(—z,—y) =0 R F(y.2) =0 2@,

y
F(x,y)=0
N
sol:

F(x,y)=0 F(x,y)=0
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F(x,y)=0

HITH y=x 2 X




3. (6%) X sin™" (sin 27) B cos™' (cos 3m)o

sol: (1)sin™'(sin %) =sin™'(3) = Z( 5F <sin 'z < %)
(2)cos ™ (cos 2) = cos™H (=) = 22 (- 0 < cosT'a < )



